MISSOURI Mohamed

gl 9 peMl Yywgyd
(W e51) clous] pasdo
o)l Jgaxdl JMsiuwl

asbsuall polell : 65l
au, pole e SU aslil 1 Sgimoll

sloll go Béaclil Jeloi : 2 JUJI

ol go AH pawadl Jelw 11 Jball

B+H,02 BH'+ HO Jeledl dsleo )?hx{l Joa>
Joolb 550) ansS | poid b AH+H,0= A + H,O Jeladl dlso
dcgoxoll Jooll 3slall &ueS paaill | acgomoll ll>
n=Cv 299 0 0 0| ajnvd n=CVv 99 0 0 0 asva
CV-x 89 X X X Qi > CV-x 99 X X X Qi >
CV - x 99 X X X, | ailg a> CV - x 99 X X X, | alp >
pH abuwl Jl awlyd : pH abuwles jolil auwl,>
- + + - n(H30+)f n(A_)f Xf — pH
[HO ], =[BH"] _n(HoT), _n(BHY), x| [0 (A 2y T 10
M v V| % =[H0 |V
- Ke _ 107 oo CV-x =0= x = CV
HO ] = - Sy = -
[ l [H30+]f 0™ t SVl paaildl s
~ i | pasid] Quansi B Xf _[H30+]f \Vi _[H30+]f _10—pH
X, = HO™ |V r-z_ VAR
CV-x,=0=x,=CV IS e Jeladl T <1
X, [HO_}f \Y} [HO_}f 10PH 14 IS Jeladl T=1
- -t n(AH), _cv-x
X CcVv C C [AH]f = v - v
_n(B)f _CV_Xf .
Bl === _ov-[Ho v _

K=Q & = [B]éq [B]éq rzg:xf =1.%,=1.CV
r:ﬁ:xf =rx, =1.CV [Hp*]éq:%_%_r.c
[HO" X _ICV - [AH]éq=CVV_Xf =C-[H,0"]=C~-1C=C(1-71)
a Vv \%
CV - x ) _(re)® _rc
[B]éq: v f :C—[HO]:C—TC:C(].—T) Qr'éq_C(l—T)_l—T
(rC) _r°c : adogoll dlowl | >
= = = . lJ J | ado
Qr,eq C(l—l’) 1-T (UMZJ 9-129) 9J~>’-°J ——r

0=, o [HO |+, [A]

- [ H 5
—— Il e Ak soalag



www.9alami.com

MISSOURI Mohamed

gl 9 peMl ywg,yd>
(W e51) clous] pasdo
o)l Jgazd | JMsiaw|

a5 Usuall polall @ 65l
auu,m pole UysJSL asldl @ Sgiamoll

— . el 5 . J ) sloJl L > Ly AH U J & uleo :3 JloJI
n(Mg)=nx Ho UsSanll Mg osloaues | o slall 8o Ly Je et :s\?usy&w sacld
n(e_) )gja.a.” dg_\.>_
”(Ms)= Ly asleall aas oo AH+HO =2 A + H,0 Jeladl asleo
( ) m — 2
Ca -\ — . JooJl sloll auesS paaxll | dcgoxall Al
D4k n(e )— mnx 3 cV. cV. 0 s A
n(e‘):9=|At=lAt:>x: A CV,-x| CV,-x| X| X[ X[ awdas
PP Ne mnF C,V, - x Vo= X% | X | X X ailps dll>
:olé&ngb),S.'u a‘a f Cb b f f f f
HESVYN SR F N PN -1y CVie = %X,=05 CV, = X,=0 Ly : 83l i
n(X): m(X) :>Xm=CaVa=CbeE
M (X) LA =t = GV GV
n(x):ﬁ oV, tVe Va+VbEa V,+ VbEa
N, o> Jglxo 9 posndd Sl OUgs,S G Jan.aJ'-Ib4 dﬁ:
VPRV
n(x) = LX) o
Vin CaCQ+2H,0 - Cd&" + CQ+3 H (| Jeklldble
(A Hodsodl 58,4l Jsnll, bolall dzaS e
C= v n CV 0 0 0] 0] awxab
;(x) n-x| CV-x| X[ X[ 3| X| awab
[X]= V) n-% | CV=x | X | X | 3% | % | ¥wd>
m N
Cm=$ Ll 58l n(Cacq)=—=s N (H;07) = CV : uadll pasall syas
m n(CacQ)-%=0 5 n(H,0")-%,=0
p=—  domesdl alis)l .
Vp :szﬁ B x, =CV
. Felol) Al o @Slis { bnsiall gl poeoell ol sl danly
Mea“ : @slzoll (Bay LoSiall Les,SUl AwSsl il 5l px>
=59 rslopl) @il le aslis P, Voo, = N(CQ). RT
P.o Ve
_ X=n C :&
.Wl olSIVI ( Q) n(COz).RT
bl CH, ssac dwlys 15 Jloll
ol VI C,H; N"hﬁir‘Mml M @
Olg,ll C.H, ()7 lag)s (2g) * (1)
Ol C.H, MNg +nM™  mNg+ iy | Jeladl slas
oludl C.H, Joodl ésloll auwesS pasll @;Jj
olusell CsHu n, n, n, n, | O I~
Ol C,Hy n-mx| n,—nx| n,+mx| n,+nx| X 2
o T n (N
Q. :[ (aq)} o _V+vr _CV
Mz ] n(M) ©v
V+V'
N(S) - N(n;cp +NnNe LSV Gudslesdl saas
M(aq)+me’ - IVI(S)




